
SAP ABAP table N2V_STATUS_SWIT {Generated Table for View}

N2V_STATUS_SWIT

MANDT [CLNT (3)]

EINRI [CHAR (4)]

DTID [CHAR (10)]

DOKST_SOURCE [CHAR (2)]

UNAME [CHAR (12)]

ROLE [CHAR (30)]

DOKST_DEST [CHAR (2)]

N2DT

MANDT [CLNT (3)]

EINRI [CHAR (4)]

DTID [CHAR (10)]

DTVERS [NUMC (3)]

 N2V_STATUS_SWIT-DTID = N2DT-DTID 0..N

0..N T000

MANDT [CLNT (3)]

 N2V_STATUS_SWIT-MANDT = T000-MANDT 
0..N1

TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 N2V_STATUS_SWIT-EINRI = TN01-EINRI 

0..N

0..N


